



# Linear superposition principle of hyperbolic and trigonometric function solutions to generalized bilinear equations



Ömer Ünsal <sup>a,\*</sup>, Wen-Xiu Ma <sup>b</sup>

<sup>a</sup> Eskişehir Osmangazi University, Department of Mathematics - Computer, 26480, Eskişehir, Turkey

<sup>b</sup> Department of Mathematics and Statistics, University of South Florida, Tampa, FL 33620-5700, USA

## ARTICLE INFO

### Article history:

Received 16 October 2015

Received in revised form 14 December 2015

Accepted 3 February 2016

Available online 21 February 2016

## ABSTRACT

Linear subspaces of hyperbolic and trigonometric function solutions to generalized bilinear equations are analyzed. Necessary and sufficient conditions are presented to apply the linear superposition principles. Applications of an algorithm using weights are made together with a few concrete examples.

© 2016 Elsevier Ltd. All rights reserved.

### Keywords:

Generalized bilinear equations

*N*-wave solution

Linear superposition principle

## 1. Introduction

There has been a great interest in finding exact solutions to nonlinear differential equations in mathematical physics. Exact solutions help us understand the mechanism that governs physical phenomena in plasma physics, optical fibers, biology, solid state physics, chemical physics, and others [1–7]. Integrability theory of nonlinear partial differential equations tells how and when exact solutions can be obtained [8–10]. Due to the nonlinearity of differential equations, it is often difficult to present exact solutions to nonlinear PDEs.

The Hirota bilinear technique is a powerful tool to investigate integrability of differential equations and it is applied to many integrable equations including integrable couplings by perturbation [11], for which *N*-soliton solutions are obtained [12–14]. The existence of *N*-soliton solutions often implies the integrability of differential equations by quadratures. Wronskian and Casoratian solutions [15–19] and quasi-periodic solutions [20–22] can also be presented systematically based on Hirota bilinear forms. In [23], linear superposition principles of hyperbolic and trigonometric functions solutions to Hirota bilinear equations were analyzed and specific classes of *N*-soliton solutions were constructed, following studies on linear superposition principles [24,25].

In this paper, we would like to find necessary and sufficient conditions to guarantee existence of linear subspaces of hyperbolic and trigonometric function solutions to generalized bilinear equations. Generalized bilinear equations were introduced by adopting a new way of assigning symbols for derivatives [26,27]. Based on an equality established in [27], we will present a condition, being sufficient and necessary, for the linear superposition principle of hyperbolic and trigonometric function solutions.

\* Corresponding author.

E-mail addresses: [ounsal@ogu.edu.tr](mailto:ounsal@ogu.edu.tr) (Ö. Ünsal), [mawx@cas.usf.edu](mailto:mawx@cas.usf.edu) (W.-X. Ma).

The rest of this paper is arranged as follows. In Section 2, we study the linear superposition principle of hyperbolic and trigonometric function solutions, aiming to construct a specific class of  $N$ -wave solutions. In Section 3, a few illustrative examples will be computed, as applications of the linear superposition principle established in the previous section. Finally, some conclusions will be provided.

## 2. Linear superposition principle

Let us begin with a bilinear equation with generalized bilinear derivatives:

$$P(D_{p,x_1}, D_{p,x_2}, \dots, D_{p,x_M})f \cdot f = 0, \quad (2.1)$$

where  $P$  is a polynomial in the indicated variables and  $D_{p,x_i}$ ,  $1 \leq i \leq M$ , are generalized differential operators [26,27] defined by

$$(D_{p,x}^n f \cdot g)(x) = (\partial_x + \alpha \partial_{x'})^n f(x)g(x')|_{x'=x} = \sum_{i=0}^n \binom{n}{i} \alpha^i (\partial_x^{n-i} f)(x) (\partial_x^i g)(x), \quad n \geq 1, \quad (2.2)$$

in which the powers of  $\alpha$  are determined by

$$\alpha^i = (-1)^{r(i)}, \quad \text{where } i = r(i) \bmod p \text{ with } 0 \leq r(i) < p, \quad i \geq 0. \quad (2.3)$$

Now introduce  $N$  wave variables:

$$\eta_i = \mathbf{k}_i \cdot \mathbf{x} = k_{1,i}x_1 + k_{2,i}x_2 + \dots + k_{M,i}x_M, \quad 1 \leq i \leq N, \quad (2.4)$$

and exponential wave functions

$$f_i = e^{\eta_i} = e^{k_{1,i}x_1 + k_{2,i}x_2 + \dots + k_{M,i}x_M}, \quad 1 \leq i \leq N, \quad (2.5)$$

where the  $k_{j,i}$ 's are real constants, and a wave related vector  $\mathbf{k}_i$  and the dependent variable vector  $\mathbf{x}$  are

$$\mathbf{k}_i = (k_{1,i}, k_{2,i}, \dots, k_{M,i}), \quad 1 \leq i \leq N, \quad \mathbf{x} = (x_1, x_2, \dots, x_M). \quad (2.6)$$

Take a linear combination

$$f = \varepsilon_1 f_1 + \varepsilon_2 f_2 + \dots + \varepsilon_N f_N = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i e^{\eta_i}, \quad (2.7)$$

where  $\varepsilon_i$ ,  $1 \leq i \leq N$ , are arbitrary constants. It is known [27] that a linear combination  $f$  of  $N$  exponential wave solves a generalized bilinear equation (2.1) if and only if the following condition

$$P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) + P(k_{1,j} + \alpha k_{1,i}, \dots, k_{M,j} + \alpha k_{M,i}) = 0, \quad 1 \leq i \leq j \leq N, \quad (2.8)$$

is satisfied.

### 2.1. Linear superposition principle of hyperbolic function solutions

We take  $f_i = ch\eta_i = \frac{1}{2}(e^{\eta_i} + e^{-\eta_i})$ ,  $1 \leq i \leq N$ , be hyperbolic function solutions to (2.1). Set

$$f = \varepsilon_1 f_1 + \varepsilon_2 f_2 + \dots + \varepsilon_N f_N = \sum_{i=1}^N \varepsilon_i ch\eta_i = \sum_{i=1}^N \varepsilon_i \frac{1}{2}(e^{\eta_i} + e^{-\eta_i}), \quad (2.9)$$

which is a general linear combination of hyperbolic function solutions. The following identity holds for exponential functions under generalized bilinear derivatives [27]:

$$P(D_{p,x_1}, \dots, D_{p,x_l}) e^{\eta_i} \cdot e^{\eta_j} = P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) e^{\eta_i + \eta_j}, \quad 1 \leq i, j \leq N. \quad (2.10)$$

Based on (2.10), we can compute that

$$\begin{aligned} & P(D_{p,x_1}, \dots, D_{p,x_M})f \cdot f \\ &= P(D_{p,x_1}, \dots, D_{p,x_M}) \sum_{i=1}^N \varepsilon_i ch\eta_i \cdot \sum_{j=1}^N \varepsilon_j ch\eta_j \\ &= \sum_{i,j=1}^N \varepsilon_i \varepsilon_j P(D_{p,x_1}, \dots, D_{p,x_M}) \frac{1}{2}(e^{\eta_i} + e^{-\eta_i}) \cdot \frac{1}{2}(e^{\eta_j} + e^{-\eta_j}) \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{4} \sum_{i,j=1}^N \varepsilon_i \varepsilon_j P(D_{p,x_1}, \dots, D_{p,x_M}) (e^{\eta_i} \cdot e^{\eta_j} + e^{\eta_i} \cdot e^{-\eta_j} + e^{-\eta_i} \cdot e^{\eta_j} + e^{-\eta_i} \cdot e^{-\eta_j}) \\
&= \frac{1}{4} \sum_{1 \leq i < j \leq N} \varepsilon_i \varepsilon_j \left[ P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) e^{\eta_i + \eta_j} + P(k_{1,i} - \alpha k_{1,j}, \dots, k_{M,i} - \alpha k_{M,j}) e^{\eta_i - \eta_j} \right. \\
&\quad \left. + P(-k_{1,i} + \alpha k_{1,j}, \dots, -k_{M,i} + \alpha k_{M,j}) e^{-\eta_i + \eta_j} + P(-k_{1,i} - \alpha k_{1,j}, \dots, -k_{M,i} - \alpha k_{M,j}) e^{-\eta_i - \eta_j} \right] \\
&\quad + \frac{1}{4} \sum_{1 \leq i > j \leq N} \varepsilon_i \varepsilon_j \left[ P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) e^{\eta_i + \eta_j} + P(k_{1,i} - \alpha k_{1,j}, \dots, k_{M,i} - \alpha k_{M,j}) e^{\eta_i - \eta_j} \right. \\
&\quad \left. + P(-k_{1,i} + \alpha k_{1,j}, \dots, -k_{M,i} + \alpha k_{M,j}) e^{-\eta_i + \eta_j} + P(-k_{1,i} - \alpha k_{1,j}, \dots, -k_{M,i} - \alpha k_{M,j}) e^{-\eta_i - \eta_j} \right] \\
&\quad + \frac{1}{4} \sum_{1 \leq i=j \leq N} \varepsilon_i \varepsilon_j \left[ P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) e^{\eta_i + \eta_j} + P(k_{1,i} - \alpha k_{1,j}, \dots, k_{M,i} - \alpha k_{M,j}) e^{\eta_i - \eta_j} \right. \\
&\quad \left. + P(-k_{1,i} + \alpha k_{1,j}, \dots, -k_{M,i} + \alpha k_{M,j}) e^{-\eta_i + \eta_j} + P(-k_{1,i} - \alpha k_{1,j}, \dots, -k_{M,i} - \alpha k_{M,j}) e^{-\eta_i - \eta_j} \right] \\
&= \frac{1}{4} \sum_{1 \leq i < j \leq N} \varepsilon_i \varepsilon_j \left[ (P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) + P(\alpha k_{1,i} + k_{1,j}, \dots, \alpha k_{M,i} + k_{M,j})) e^{\eta_i + \eta_j} \right. \\
&\quad \left. + (P(k_{1,i} - \alpha k_{1,j}, \dots, k_{M,i} - \alpha k_{M,j}) + P(\alpha k_{1,i} - k_{1,j}, \dots, \alpha k_{M,i} - k_{M,j})) e^{\eta_i - \eta_j} \right. \\
&\quad \left. + (P(-k_{1,i} + \alpha k_{1,j}, \dots, -k_{M,i} + \alpha k_{M,j}) + P(-\alpha k_{1,i} + k_{1,j}, \dots, -\alpha k_{M,i} + k_{M,j})) e^{-\eta_i + \eta_j} \right. \\
&\quad \left. + (P(-k_{1,i} - \alpha k_{1,j}, \dots, -k_{M,i} - \alpha k_{M,j}) + P(-\alpha k_{1,i} - k_{1,j}, \dots, -\alpha k_{M,i} - k_{M,j})) e^{-\eta_i - \eta_j} \right] \\
&\quad + \frac{1}{4} \sum_{1 \leq i \leq N} \varepsilon_i^2 \left[ P(k_{1,i} + \alpha k_{1,i}, \dots, k_{M,i} + \alpha k_{M,i}) e^{2\eta_i} + P(k_{1,i} - \alpha k_{1,i}, \dots, k_{M,i} - \alpha k_{M,i}) \right. \\
&\quad \left. + P(-k_{1,i} + \alpha k_{1,i}, \dots, -k_{M,i} + \alpha k_{M,i}) + P(-k_{1,i} - \alpha k_{1,i}, \dots, -k_{M,i} - \alpha k_{M,i}) e^{-2\eta_i} \right]. \tag{2.11}
\end{aligned}$$

From (2.11), it is obvious that a linear combination function  $f$  of the  $N$  hyperbolic function solutions  $f_i = ch\eta_i = \frac{1}{2}(e^{\eta_i} + e^{-\eta_i})$ ,  $1 \leq i \leq N$ , solves the generalized bilinear equation (2.1) if and only if the following conditions:

$$\begin{aligned}
&P(k_{1,i} + \alpha k_{1,j}, \dots, k_{M,i} + \alpha k_{M,j}) + P(\alpha k_{1,i} + k_{1,j}, \dots, \alpha k_{M,i} + k_{M,j}) = 0, \quad 1 \leq i \leq j \leq N, \\
&P(k_{1,i} - \alpha k_{1,j}, \dots, k_{M,i} - \alpha k_{M,j}) + P(\alpha k_{1,i} - k_{1,j}, \dots, \alpha k_{M,i} - k_{M,j}) = 0, \quad 1 \leq i \leq j \leq N, \\
&P(-k_{1,i} + \alpha k_{1,j}, \dots, -k_{M,i} + \alpha k_{M,j}) + P(-\alpha k_{1,i} + k_{1,j}, \dots, -\alpha k_{M,i} + k_{M,j}) = 0, \quad 1 \leq i < j \leq N, \\
&P(-k_{1,i} - \alpha k_{1,j}, \dots, -k_{M,i} - \alpha k_{M,j}) + P(-\alpha k_{1,i} - k_{1,j}, \dots, -\alpha k_{M,i} - k_{M,j}) = 0, \quad 1 \leq i \leq j \leq N, \tag{2.12}
\end{aligned}$$

are satisfied.

With the aid of this result, we can obtain the following theorem.

**Theorem 1.** Let  $P(x_1, x_2, \dots, x_M)$  be a polynomial and the  $N$  wave variable be defined by  $\eta_i = \mathbf{k}_i \cdot \mathbf{x} = k_{1,i}x_1 + k_{2,i}x_2 + \dots + k_{M,i}x_M$ ,  $1 \leq i \leq N$ , where the  $k_{j,i}$ 's are real constants. Then any linear combination of the hyperbolic function solutions  $f_i = ch\eta_i = \frac{1}{2}(e^{\eta_i} + e^{-\eta_i})$ ,  $1 \leq i \leq N$ , solves the generalized bilinear equation (2.1) if and only if the system (2.12) is satisfied.

This theorem tells when a linear superposition of hyperbolic function solutions is still a solution of a given generalized bilinear equation. Furthermore, it also introduces a way to construct  $N$ -wave solutions to generalized bilinear equations. The system (2.12) is a key condition that a solution needs to satisfy. If we are able to solve the system (2.12), then we can present an  $N$ -wave solution, formed by (2.9), to a generalized bilinear equation.

## 2.2. Linear superposition principle of trigonometric function solutions

We take  $f_i = \cos \eta_i = \frac{1}{2}(e^{I\eta_i} + e^{-I\eta_i})$ ,  $1 \leq i \leq N$ , where  $\eta_i = \mathbf{k}_i \cdot \mathbf{x}$ ,  $1 \leq i \leq N$ ,  $I = \sqrt{-1}$ , be trigonometric function solutions to (2.1). Set

$$f = \varepsilon_1 f_1 + \varepsilon_2 f_2 + \dots + \varepsilon_N f_N = \sum_{i=1}^N \varepsilon_i \cos \eta_i = \sum_{i=1}^N \varepsilon_i \frac{1}{2}(e^{I\eta_i} + e^{-I\eta_i}), \tag{2.13}$$

which is a general linear combination of trigonometric function solutions. Similarly, a linear combination function  $f$  of the  $N$  trigonometric function solutions in (2.13) solves the generalized bilinear equation (2.1) if and only if the following conditions:

$$\begin{aligned} P(Ik_{1,i} + \alpha Ik_{1,j}, \dots, Ik_{M,i} + \alpha Ik_{M,j}) + P(\alpha Ik_{1,i} + Ik_{1,j}, \dots, \alpha Ik_{M,i} + Ik_{M,j}) &= 0, \quad 1 \leq i \leq j \leq N, \\ P(Ik_{1,i} - \alpha Ik_{1,j}, \dots, Ik_{M,i} - \alpha Ik_{M,j}) + P(\alpha Ik_{1,i} - Ik_{1,j}, \dots, \alpha Ik_{M,i} - Ik_{M,j}) &= 0, \quad 1 \leq i \leq j \leq N, \\ P(-Ik_{1,i} + \alpha Ik_{1,j}, \dots, -Ik_{M,i} + \alpha Ik_{M,j}) + P(-\alpha Ik_{1,i} + Ik_{1,j}, \dots, -\alpha Ik_{M,i} + Ik_{M,j}) &= 0, \quad 1 \leq i < j \leq N, \\ P(-Ik_{1,i} - \alpha Ik_{1,j}, \dots, -Ik_{M,i} - \alpha Ik_{M,j}) + P(-\alpha Ik_{1,i} - Ik_{1,j}, \dots, -\alpha Ik_{M,i} - Ik_{M,j}) &= 0, \quad 1 \leq i \leq j \leq N, \end{aligned} \quad (2.14)$$

are satisfied. Thus we have the following theorem.

**Theorem 2.** Let  $P(x_1, x_2, \dots, x_M)$  be a polynomial and the  $N$  wave variable defined by  $\eta_i = \mathbf{k}_i \cdot \mathbf{x} = k_{1,i}x_1 + k_{2,i}x_2 + \dots + k_{M,i}x_M$ ,  $1 \leq i \leq N$ , where the  $k_{j,i}$ 's are real constants. Then any linear combination of the trigonometric function solutions  $f_i = \cos \eta_i$ ,  $1 \leq i \leq N$ , solves the generalized bilinear equation (2.1) if and only if the system (2.14) is satisfied.

This theorem tells when a linear superposition of trigonometric function solutions is still a solution of a given generalized bilinear equation. Furthermore, it also introduces a way to construct  $N$ -wave solutions to generalized bilinear equations. The system (2.14) is a key condition that a solution needs to satisfy. If we are able to solve the system (2.14), then we can present an  $N$ -wave solution, formed by (2.13), to a generalized bilinear equation.

### 3. Applications

**Example 1.** Let us introduce the weights of independent variables:

$$(w(x), w(y), w(z), w(t)) = (1, 2, 3, 4), \quad (3.1)$$

and consider a polynomial being homogeneous in weight 7:

$$P = c_1xy^3 + c_2xz^2 + c_3x^3t + c_4y^2z + c_5xyt + c_6x^2yz, \quad (3.2)$$

where  $c_1, c_2, c_3, c_4, c_5, c_6$  are constants. Assume that the wave variables are

$$\eta_i = k_i x + b_1 k_i^2 y + b_2 k_i^3 z + b_3 k_i^4 t, \quad 1 \leq i \leq N, \quad (3.3)$$

where  $k_i$ ,  $1 \leq i \leq N$ , are arbitrary constants, but  $b_1, b_2$  and  $b_3$  are constants to be determined.

A simple direct computation shows that the corresponding generalized bilinear equation reads

$$\begin{aligned} P(D_{3,x}, D_{3,y}, D_{3,z}, D_{3,t})f \cdot f &= 6c_1f_{yy}f_{yx} + 2c_2f_{xzz}f + 6c_3f_{xx}f_{xt} + 2c_4f_{yyz}f \\ &\quad + 2c_5f_{xyt}f + 2c_6f_{xx}f_{yz} + 4c_6f_{xy}f_{xz} \\ &= 0 \end{aligned} \quad (3.4)$$

which has the linear subspaces of  $N$ -wave solutions defined by

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i \operatorname{ch} \eta_i = \sum_{i=1}^N \varepsilon_i \operatorname{ch} (k_i x + b_1 k_i^2 y + b_2 k_i^3 z + b_3 k_i^4 t), \quad (3.5)$$

or

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i \cos \eta_i = \sum_{i=1}^N \varepsilon_i \cos (k_i x + b_1 k_i^2 y + b_2 k_i^3 z + b_3 k_i^4 t), \quad (3.6)$$

where  $b_1$ , the  $\varepsilon_i$ 's and the  $k_i$ 's are arbitrary, and  $b_2$  and  $b_3$  satisfy

$$b_2 = -\frac{3b_1^2 c_1}{2c_6}, \quad b_3 = \frac{b_1^3 c_1}{2c_3}, \quad (3.7)$$

when the coefficients of the polynomial  $P$  satisfy

$$9c_1c_2c_3 = 2c_6(3c_4c_3 - c_5c_6). \quad (3.8)$$

**Example 2.** Let us introduce the weights of independent variables:

$$(w(x), w(y), w(z), w(t)) = (1, 3, 5, 7), \quad (3.9)$$

and consider a polynomial being homogeneous in weight 8:

$$P = c_1x^8 + c_2x^5y + c_3x^3z + c_4yz + c_5xt, \quad (3.10)$$

where  $c_1, c_2, c_3, c_4, c_5$  are constants. Assume that the wave variables are

$$\eta_i = k_i x + b_1 k_i^3 y + b_2 k_i^5 z + b_3 k_i^7 t, \quad 1 \leq i \leq N, \quad (3.11)$$

where  $k_i, 1 \leq i \leq N$ , are arbitrary constants, but  $b_1, b_2$  and  $b_3$  are constants to be determined.

A simple direct computation shows that the corresponding generalized bilinear equation reads

$$\begin{aligned} P(D_{5,x}, D_{5,y}, D_{5,z}, D_{5,t})f \cdot f &= 70c_1 f_{xxxx}^2 + 20c_2 f_{xx} f_{xxxx} + 10c_3 f_{xy} f_{xxxx} - 20c_2 f_{xxx} f_{xxy} \\ &\quad + 2c_3 f_{ff_{xxx}} - 2c_3 f_{zf_{xxx}} - 6c_3 f_{fx} f_{xxz} + 6c_3 f_{fx} f_{xz} \\ &\quad + 2c_4 f_{fy} f_{yz} - 2c_4 f_{yz} f_z + 2c_5 f_{ff_{xt}} - 2c_5 f_x f_t \\ &= 0 \end{aligned} \quad (3.12)$$

which possesses the linear subspace of  $N$ -wave solutions determined by

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i \operatorname{ch} \eta_i = \sum_{i=1}^N \varepsilon_i \operatorname{ch} (k_i x + b_1 k_i^3 y + b_2 k_i^5 z + b_3 k_i^7 t), \quad (3.13)$$

where the  $\varepsilon_i$ 's and the  $k_i$ 's are arbitrary, and  $b_1, b_2$  and  $b_3$  satisfy

$$b_1 = -\frac{7c_1}{c_2}, \quad b_2 = \frac{70c_1}{3c_3}, \quad b_3 = -\frac{70c_1}{c_5} \quad (3.14)$$

when the coefficients of the polynomial  $P$  satisfy

$$7c_1 c_4 = -2c_3 c_2. \quad (3.15)$$

Similarly, (3.12) has the linear subspace of  $N$ -wave solutions defined by

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i \cos \eta_i = \sum_{i=1}^N \varepsilon_i \cos (k_i x + b_1 k_i^3 y + b_2 k_i^5 z + b_3 k_i^7 t), \quad (3.16)$$

where the  $\varepsilon_i$ 's and the  $k_i$ 's are arbitrary, and  $b_1, b_2$  and  $b_3$  satisfy

$$b_1 = \frac{7c_1}{c_2}, \quad b_2 = \frac{70c_1}{3c_3}, \quad b_3 = \frac{70c_1}{c_5} \quad (3.17)$$

when the coefficients of the polynomial  $P$  satisfy

$$7c_1 c_4 = -2c_3 c_2. \quad (3.18)$$

**Example 3.** Let us introduce the weights of independent variables:

$$(w(x), w(y), w(z), w(t)) = (1, 3, -1, -3), \quad (3.19)$$

and consider a polynomial being homogeneous in weight 4:

$$P = c_1 x^4 + c_2 x y + c_3 x^5 z + c_4 x^7 t, \quad (3.20)$$

where  $c_1, c_2, c_3, c_4$  are constants. Assume that the wave variables are

$$\eta_i = k_i x + b_1 k_i^3 y + b_2 k_i^{-1} z + b_3 k_i^{-3} t, \quad 1 \leq i \leq N, \quad (3.21)$$

where  $k_i, 1 \leq i \leq N$ , are arbitrary constants, but  $b_1, b_2$  and  $b_3$  are constants to be determined.

A simple direct computation shows that the corresponding generalized bilinear equation reads

$$\begin{aligned} P(D_{5,x}, D_{5,y}, D_{5,z}, D_{5,t})f \cdot f &= 2c_1 f_{xxxx} - 8c_1 f_{xxx} f_x + 6c_1 f_{xx}^2 + 2c_2 f_{xy} f_{xy} \\ &\quad - 2c_2 f_x f_y + 20c_3 f_{xx} f_{xxxx} + 10c_3 f_{xz} f_{xxxx} \\ &\quad - 20c_3 f_{xxx} f_{xxz} + 70c_4 f_{xxxx} f_{xxxt} \\ &= 0 \end{aligned} \quad (3.22)$$

which possesses the linear subspace of  $N$ -wave solutions determined by

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i ch \eta_i = \sum_{i=1}^N \varepsilon_i ch (k_i x + b_1 k_i^3 y + b_2 k_i^{-1} z + b_3 k_i^{-3} t), \quad (3.23)$$

where the  $\varepsilon_i$ 's and the  $k_i$ 's are arbitrary, and  $b_1$ ,  $b_2$  and  $b_3$  satisfy

$$b_1 = -\frac{c_1}{c_2}, \quad b_2 = -\frac{3c_1}{10c_3}, \quad b_3 = \frac{3c_1}{70c_4}. \quad (3.24)$$

Similarly, (3.22) has the linear subspace of  $N$ -wave solutions defined by

$$f = \sum_{i=1}^N \varepsilon_i f_i = \sum_{i=1}^N \varepsilon_i \cos \eta_i = \sum_{i=1}^N \varepsilon_i \cos (k_i x + b_1 k_i^3 y + b_2 k_i^{-1} z + b_3 k_i^{-3} t), \quad (3.25)$$

where the  $\varepsilon_i$ 's and the  $k_i$ 's are arbitrary, and  $b_1$ ,  $b_2$  and  $b_3$  satisfy

$$b_1 = \frac{c_1}{c_2}, \quad b_2 = \frac{3c_1}{10c_3}, \quad b_3 = \frac{3c_1}{70c_4}. \quad (3.26)$$

## 4. Conclusion

For generalized bilinear equations, we analyzed linear combinations of hyperbolic or trigonometric function solutions and we presented linear superposition principle of hyperbolic and trigonometric function solutions to generalized bilinear equations. A few illustrative examples were presented, by applying an algorithm using weights.

## Acknowledgments

The work was supported in part by NNSFC under the grants 11371326, 11271008 and 61072147, Natural Science Foundation of Shanghai (Grant No. 11ZR1414100), Zhejiang Innovation Project of China (Grant No. T200905), and the First-class Discipline of Universities in Shanghai and the Shanghai University Leading Academic Discipline Project (No. A.13-0101-12-004). The authors are also grateful to E.A. Appiah, X. Gu, C.X. Li, S. Manukure, M. Mcanally, S.F. Shen, Y.Q. Yao, S.M. Yu, W.Y. Zhang and Y. Zhou for their valuable discussions in the differential equation seminar at University of South Florida. Authors thank to "Republic of Turkey-Presidency of Higher Education" for providing abroad research funding to Ömer Ünsal.

## References

- [1] X. Lü, W.X. Ma, J. Yu, F. Lin, C.M. Khalique, Envelope bright- and dark-soliton solutions for the Gerdjikov–Ivanov model, *Nonlinear Dynam.* 82 (2015) 1211–1220.
- [2] X. Lü, W.X. Ma, C.M. Khalique, A direct bilinear Bäcklund transformation of a  $(2+1)$ -dimensional Korteweg–de Vries-like model, *Appl. Math. Lett.* 50 (2015) 37–42.
- [3] X. Lü, Madeling fluid description on a generalized mixed nonlinear Schrödinger equation, *Nonlinear Dynam.* 81 (2015) 239–247.
- [4] X. Lü, F. Lin, F. Qi, Analytical study on a two-dimensional Korteweg–de Vries model with bilinear representation, Bäcklund transformation and soliton solutions, *Appl. Math. Model.* 39 (2015) 3183–3548.
- [5] X. Lü, M. Peng, Nonautonomous motion study on accelerated and decelerated solitons for the variable-coefficient Lenells–Fokas model, *Chaos* 23 (2013) 013122.
- [6] X. Lü, Soliton behavior for a generalized mixed nonlinear Schrödinger model with  $N$ -fold Darboux transformation, *Chaos* 23 (2013) 033137.
- [7] M.Y. Adamu, E. Suleiman, On the generalized bilinear differential equations, *IOSR J. Math.* 3 (2012) 24–30.
- [8] M.J. Ablowitz, P.A. Clarkson, *Solitons, Nonlinear Evolution Equations and Inverse Scattering*, Cambridge University Press, 1991.
- [9] V.E. Zakharov, What is Integrability?, Springer-Verlag, 1991.
- [10] W.X. Ma, Integrability, in: A. SCOTT (Ed.), *Encyclopedia of Nonlinear Science*, Taylor & Francis, New York, 2005, pp. 450–453.
- [11] W.X. Ma, W. Strampp, Bilinear forms and Bäcklund transformations of the perturbation systems, *Phys. Lett. A* 341 (2005) 441–449.
- [12] R. Hirota, *The Direct Method in Soliton Theory*, Cambridge University Press, 2004.
- [13] J. Hietarinta, Hirota's bilinear method and soliton solutions, *Phys. AUC* 15 (2005) 31–37.
- [14] A.M. Wazwaz, Multiple soliton solutions for two  $(3+1)$ -dimensional extensions of the KP equation, *Int. J. Nonlinear Sci.* 12 (2011) 471–477.
- [15] W.X. Ma, Complexiton solutions to the Korteweg–de Vries equation, *Phys. Lett. A* 301 (2002) 35–44.
- [16] W.X. Ma, K. Maruno, Complexiton solutions of the Toda lattice equation, *Physica A* 343 (2004) 219–237.
- [17] W.X. Ma, Y. You, Solving the Korteweg–de Vries equation by its bilinear form: Wronskian solutions, *Trans. Amer. Math. Soc.* 357 (2005) 1753–1778.
- [18] W.X. Ma, C.X. Li, J.S. He, A second Wronskian formulation of the Boussinesq equation, *Nonlinear Anal.* 70 (2009) 4245–4258.
- [19] Y. Zhang, J.J. Yan, Soliton resonance of the NI-BKP equation, in: W.X. Ma, X.B. Hu, Q.P. Liu (Eds.), *Nonlinear and Modern Mathematical Physics*, Vol. 1212, AIPCP-American Institute of Physics, Melville, NY, 2010, pp. 231–242.
- [20] Y. Zhang, L.Y. Ye, Y.N. Lv, H.Q. Zhao, Periodic wave solutions of the Boussinesq equation, *J. Phys. A* 40 (2007) 5539–5549.
- [21] W.X. Ma, R.G. Zhou, L. Gao, Exact one-periodic and two-periodic wave solutions to Hirota bilinear equations in  $(2+1)$  dimensions, *Modern Phys. Lett. A* 21 (2009) 1677–1688.
- [22] E.G. Fan, Quasi-periodic waves and an asymptotic property for the asymmetrical Nizhnik–Novikov–Veselov equation, *J. Phys. A* 42 (2009) 095206.
- [23] H.C. Zheng, W.X. Ma, X. Gu, Hirota bilinear equations with linear subspaces of hyperbolic and trigonometric function solutions, *Appl. Math. Comput.* 220 (2013) 226–234.
- [24] W.X. Ma, E.G. Fan, Linear superposition principle applying to Hirota bilinear equations, *Comput. Math. Appl.* 61 (2011) 950–959.
- [25] W.X. Ma, Y. Zhang, Y.N. Tang, J.Y. Tu, Hirota bilinear equations with linear subspaces of solutions, *Appl. Math. Comput.* 218 (2012) 7174–7183.
- [26] W.X. Ma, Generalized bilinear differential equations, *Stud. Nonlinear Sci.* 2 (2011) 140–144.
- [27] W.X. Ma, Bilinear equations, Bell polynomials and linear superposition principle, *J. Phys. Conf. Ser.* 411 (2013) 012021.